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* The algorithm begins by sorting the graph’s edges in nondecreasing
order of their weights. Then, starting with the empty subgraph, it
scans this sorted list, adding the next edge on the list to the current
subgraph if such an inclusion does not create a cycle and simply
skipping the edge otherwise.



ALGORITHM Kruskal(G)

[Kruskal's algorithm for constructing a minimum spanning tree

[Mnput: A weighted connected graph G = (V. E}

[[Output: Ey, the set of edges composing a minimum spanning tree of G
sort £ in nondecreasing order of the edge weights w(e; J== w{-f,-l g
Er «— @; ecounter « () (nitialize the set of tree edges and its size

k0 (nitialize the number of processed edges
while ecounter = |V| — 1 do
k—k+1
if E7 U {e;, | is acyclic
Er «— ErUle, ). ecounter « ecounter + 1

return E;



 Algorithm Kruskal(G)

* sort E by the edge weights // Note this is a Priority Queue
* make disjoint sets of vertices, d(v)

e while ecounter < |V|-1 and E is not empty do

* (u, v) €& remove minimum from E

e if find(u) # find(v) then

e T & union(u, v)

* ecounter++

°* return T












